# IRRATIONALITY MEASURES OF NUMBERS RELATED TO SOME $q$-BASIC HYPERGEOMETRIC SERIES 

KEIJO VÄÄNÄNEN


#### Abstract

We obtain rather good irrationality measures for numbers related to some $q$-basic hypergeometric series. The method uses Padé approximations combined with the iteration of the appropriate functional equation.


## 1. Introduction and results

Let $K$ be an algebraic number field of degree $d=[K: \mathrm{Q}]$. For each place $w$ of $K$ we normalize the valuation $|.|_{w}$ in the usual way and denote $|\cdot|_{w}^{*}=$ $\max \left\{1,|\cdot|_{w}\right\},\|\cdot\|_{w}=\left|.\left|\left.\right|_{w} ^{d_{w} / d},\|\cdot\|_{w}^{*}=|\cdot|_{w}^{* d_{w} / d}\right.\right.$ with $d_{w}=\left[K_{w}: \mathrm{Q}_{w}\right]$, here $\mathrm{Q}_{w}$ and $K_{w}$ denote the completions of Q and $K$ with respect to $|\cdot|_{w}$. The height of $\alpha \in K^{*}$ is defined by

$$
h(\alpha)=\prod_{w}\|\alpha\|_{w}^{*}
$$

where the product is over all places $w$ of $K$. Furthermore, for $\underline{a}=\left(a_{1}, \ldots\right.$, $\left.a_{m}\right) \in K^{m}$, let $|\underline{a}|_{w}=\max \left\{\left|a_{i}\right|_{w}\right\},|\underline{a}|_{w}^{*}=\max \left\{1,\left|a_{i}\right|_{w}\right\},\|\underline{a}\|_{w}=|\underline{a}|_{w}^{d_{w} / d}$, $\|\underline{a}\|_{w}^{*}=|\underline{a}|_{w}^{* d_{w} / d}$, and for $\underline{a} \neq \underline{0}$ define the height $h(\underline{a})$ by

$$
h(\underline{a})=\prod_{w}\|\underline{a}\|_{w}^{*}
$$

In the following we fix a place $v$ of $K$ and let $a, b, q$ and $\xi$ denote nonzero elements of $K$ satisfying

$$
\begin{equation*}
|q|_{v}<1, \quad|\xi|_{v}<1, \quad a q^{n} \neq 1, \quad b q^{n} \neq 1, \quad n=0,1, \ldots \tag{1}
\end{equation*}
$$

We are interested in the $q$-basic hypergeometric series

$$
\begin{equation*}
f(z)=f(a, b, z)=\sum_{n=0}^{\infty} \frac{(a, q)_{n}(b, q)_{n}}{(q, q)_{n}} z^{n} \tag{2}
\end{equation*}
$$

where $(a, q)_{0}=1,(a, q)_{n}=(1-a)(1-a q) \ldots\left(1-a q^{n-1}\right), n \geq 1$. Under the conditions (1) the values $f(\xi)$ and $f(q \xi)$ are defined in $K_{v}$. We note that there are a lot of works considering arithmetic properties of different type of $q$-series, see e.g. [14] for a survey of such results, and [3], [4], [5], [6], [8], [10], [11], [12] and [15] for some more recent results, but only a few study functions (2), see [7] and [10]. In [7] Chirskii considered the case $K=\mathrm{Q}$ with finite p and proved the following result.

Theorem 1.1. If $q=p^{m}$ with a prime $p, m \in \mathbf{N}, a, b \in \mathbf{Z}$, and $\xi=c p^{t}$ with a nonzero $c \in \mathbf{Z}, t \in \mathrm{~N}, t>m+\log _{p}(2|a b c|)$, then the $p$-adic numbers $f(a, b, \xi)$ and $f(a q, b, \xi)$ are linearly independent over Q .

Since

$$
(1-a) f(a q, b, z)=f(a, b, z)-a f(a, b, q z)
$$

Theorem 1.1 gives also linear independence of $p$-adic numbers $f(\xi)$ and $f(q \xi)$. The above theorem was generalized and made quantitative in [10], where the authors study the solutions of functional equations

$$
\begin{equation*}
(q z)^{s} F\left(q^{2} z\right)=-T(z) F(q z)+S(z) F(z), \quad s \geq 1 \tag{3}
\end{equation*}
$$

with polynomials $T$ and $S$, containing as a special case the functional equation

$$
\begin{equation*}
a b z f\left(q^{2} z\right)=((a+b) z-1) f(q z)+(1-z) f(z) \tag{4}
\end{equation*}
$$

satisfied by $f(z)$. If we define

$$
\begin{equation*}
\lambda=\lambda(v, q)=\frac{\log h(q)}{\log \|q\|_{v}} \tag{5}
\end{equation*}
$$

then $\lambda \leq-1$, and [10] gives linear independence of $f(\xi)$ and $f(q \xi)$, if $\lambda=-1$. As a special case of [10, Theorem 2] we have

Theorem 1.2. Let the assumptions (1) be satisfied. If $\lambda=-1$, then there exist positive constants $c_{0}$ and $H_{0}$ depending on $a, b, q, \xi$ and $v$ such that for all nonzero $\underline{A}=\left(A_{0}, A_{1}\right) \in K^{2}$

$$
\left|A_{0} f(\xi)+A_{1} f(q \xi)\right|_{v}>H^{-\mu-c_{0} / \sqrt{\log H}}
$$

where $\mu=60,91 d / d_{v}$ and $H=\max \left\{h(\underline{A}), H_{0}\right\}$.
Note that $\lambda=-1$ e.g. if $K=\mathrm{Q}$ and in the archimedean case $q=Q^{-1}$, $Q \in \mathrm{Z}$, or in the $p$-adic case $q= \pm p^{m}, m \geq 1$.

Our main result in this paper is the following improvement of the above results.

Theorem 1.3. Assume that $a, b, q$ and $\xi$ are nonzero elements of $K$ satisfying (1). If $\lambda$ satisfies

$$
\begin{equation*}
-\lambda<\frac{2+\sqrt{2}}{1+\sqrt{2}} \tag{6}
\end{equation*}
$$

then the numbers $f(\xi)$ and $f(q \xi)$ belonging to $K_{v}$ are linearly independent over $K$, and there exist positive constants $c_{0}$ and $H_{0}$ depending on $a, b, q, \xi$ and $v$ such that for all nonzero $\underline{A}=\left(A_{0}, A_{1}\right) \in K^{2}$ we have

$$
\left|A_{0} f(\xi)+A_{1} f(q \xi)\right|_{v}>|\underline{A}|_{v}^{*} H^{-\mu-c_{0} / \sqrt{\log H}}
$$

where $H=\max \left\{h(\underline{A}), H_{0}\right\}$ and

$$
\mu=\frac{d}{d_{v}} \frac{2+\sqrt{2}}{2+\sqrt{2}+\lambda(1+\sqrt{2})} .
$$

In particular, we have $\mu=(2+\sqrt{2}) d / d_{v}$ if $\lambda=-1$.
As an immediate corollary we have
Corollary 1.4. If the assumptions of Theorem 1.3 are valid and $-\lambda<$ $(2+\sqrt{2}) /(1+\sqrt{2})$, then $f(\xi) / f(q \xi)$ is not an element of $K$.

In the archimedean case Theorem 1.3 implies
Corollary 1.5. Let $a, b, q=Q^{-1}, Q \in \mathrm{Z}$ and $\xi$ be nonzero rationals satisfying (1). Then the numbers $f(\xi)$ and $f(q \xi)$ are linearly independent over Q and for all nonzero $\underline{A}=\left(A_{0}, A_{1}\right) \in \mathrm{Z}^{2}$ we have

$$
\left|A_{0} f(\xi)+A_{1} f(q \xi)\right|>H^{-(1+\sqrt{2})-c_{0} / \sqrt{\log H}}
$$

where $H=\max \left\{\left|A_{0}\right|,\left|A_{1}\right|, H_{0}\right\}$ and $c_{0}, H_{0}$ are as in Theorem 1.3.
Corollary 1.6. Under the assumptions of Corollary $1.5 f(\xi) / f(q \xi)$ is irrational and has the irrationality measure $2+\sqrt{2}$.

As a final corollary we give
Corollary 1.7. Let $p$ be a prime and let $a, b, \xi$ and $q= \pm p^{m}$ be nonzero rationals satisfying (1). Then the p-adic numbers $f(\xi)$ and $f(q \xi)$ are linearly independent over Q and for all nonzero $\underline{A}=\left(A_{0}, A_{1}\right) \in \mathrm{Z}^{2}$ we have

$$
\left|A_{0} f(\xi)+A_{1} f(q \xi)\right|_{p}>H^{-(2+\sqrt{2})-c_{0} / \sqrt{\log H}}
$$

where $H=\max \left\{\left|A_{0}\right|,\left|A_{1}\right|, H_{0}\right\}$ and $c_{0}, H_{0}$ are as in Theorem 1.3.

In his proof of Theorem 1.1 Chirskii [7] constructs explicit Padé approximations for the functions $f(a, b, z)$ and $f(a q, b, z)$. To prove Theorem 1.3 we shall improve these approximations by using iteration of the functional equation (4). This kind of iteration process is used often successfully in the consideration of $q$-series, and in this case we can apply [10], where the iteration of (3) is given in details. We may also say that the improvement in comparision to [10] is obtained by replacing linear forms before iteration, obtained by Siegel's lemma in [1], by Padé approximations given in [7]. It would be of interest to study if this kind of combination of explicit Padé approximations and the iteration of the appropriate functional equation could be applied to get new results also on some other $q$-series.

## 2. Preliminaries

By defining

$$
\alpha_{1}=a, \quad \alpha_{2}=b, \quad \alpha_{k+2}=\alpha_{k} q, \quad k=1,2, \ldots
$$

we get a sequence $\left(\alpha_{k}\right)$ with

$$
\begin{equation*}
\alpha_{2 k-1}=a q^{k-1}, \quad \alpha_{2 k}=b q^{k-1}, \quad k=1,2, \ldots \tag{7}
\end{equation*}
$$

If

$$
\begin{equation*}
f_{n}(z)=f\left(\alpha_{n+1}, \alpha_{n+2}, z\right), \quad n=0,1, \ldots \tag{8}
\end{equation*}
$$

then $f_{0}(z)=f(a, b, z), f_{1}(z)=f(a q, b, z)$, and

$$
\begin{equation*}
\alpha_{n+1}\left(1-\alpha_{n+2}\right) z f_{n+2}(z)=f_{n+1}(z)-f_{n}(z), \quad n=0,1, \ldots, \tag{9}
\end{equation*}
$$

see [7]. Furthermore, if

$$
\begin{align*}
& R_{0}(z)=f_{0}(z) \\
& R_{1}(z)=\left(1-\alpha_{1}\right) f_{1}(z)  \tag{10}\\
& \ldots \ldots \ldots \ldots \ldots \ldots \ldots \ldots \ldots \ldots \ldots \ldots \ldots \ldots \ldots \ldots \ldots \ldots \ldots \ldots \ldots \\
& R_{n}(z)=\alpha_{1} \ldots \alpha_{n-1}\left(1-\alpha_{1}\right) \ldots\left(1-\alpha_{n}\right) z^{n-1} f_{n}(z)
\end{align*}
$$

$n=2,3, \ldots$, then, by (9),

$$
\begin{align*}
R_{2}(z) & =R_{1}(z)-\left(1-\alpha_{1}\right) R_{0}(z), R_{n+2}(z)  \tag{11}\\
& =R_{n+1}(z)-\alpha_{n}\left(1-\alpha_{n+1}\right) z R_{n}(z)
\end{align*}
$$

$n=1,2, \ldots$

We now suppose that the assumptions of Theorem 1.3 are valid and define $n_{0}$ to be the smallest integer such that $\left|a q^{n}\right|_{v}<1$ and $\left|b q^{n}\right|_{v}<1$ for all $n \geq n_{0}$. We also denote by $c_{1}, c_{2}, \ldots$ effectively computable positive constants independent of $n$.

Lemma 2.1. For all $n \geq n_{0}$, we have

$$
\begin{aligned}
\left|R_{2 n}(\xi)\right|_{v} & \leq c_{1}|a|_{v}^{n}|b|_{v}^{n-1}|q|_{v}^{(n-1)^{2}}|\xi|_{v}^{2 n-1}, \\
\left|R_{2 n+1}(\xi)\right|_{v} & \leq c_{2}|a|_{v}^{n}|b|_{v}^{n}|q|_{v}^{n(n-1)}|\xi|_{v}^{2 n} .
\end{aligned}
$$

Proof. By the definition (8),

$$
\begin{align*}
f_{2 n}(\xi) & =\sum_{j=0}^{\infty} \frac{\left(\alpha_{2 n+1}, q\right)_{j}\left(\alpha_{2 n+2}, q\right)_{j}}{(q, q)_{j}} \xi^{j} \\
& =\sum_{j=0}^{\infty} \frac{\prod_{k=0}^{j-1}\left(1-a q^{n+k}\right) \prod_{k=0}^{j-1}\left(1-b q^{n+k}\right)}{\prod_{k=1}^{j}\left(1-q^{k}\right)} \xi^{j} \tag{12}
\end{align*}
$$

Thus $\left|f_{2 n}(\xi)\right|_{v}=1$ for finite $v$, if $n \geq n_{0}$. This together with (10) gives the first bound of Lemma 2.1 for finite $p$.

We next consider an infinite $v$. If $n \geq n_{0}$, then

$$
\begin{aligned}
0 & <\left|\frac{\prod_{k=0}^{j-1}\left(1-a q^{n+k}\right) \prod_{k=0}^{j-1}\left(1-b q^{n+k}\right)}{\prod_{k=1}^{j}\left(1-q^{k}\right)}\right|_{v} \\
& \leq \frac{\prod_{k=0}^{j-1}\left(1+|a|_{v}|q|_{v}^{n+k}\right) \prod_{k=0}^{j-1}\left(1+|b|_{v}|q|_{v}^{n+k}\right)}{\prod_{k=1}^{j}\left(1-|q|_{v}^{k}\right)} \\
& \leq \frac{\prod_{k=0}^{\infty}\left(1+|a|_{v}|q|_{v}^{n_{0}+k}\right) \prod_{k=0}^{\infty}\left(1+|b|_{v}|q|_{v}^{n_{0}+k}\right)}{\prod_{k=1}^{\infty}\left(1-|q|_{v}^{k}\right)}=: c_{3} .
\end{aligned}
$$

Furthermore,

$$
\left|\prod_{k=0}^{n-1}\left(1-a q^{k}\right) \prod_{k=0}^{n-2}\left(1-b q^{k}\right)\right|_{v} \leq \prod_{k=0}^{\infty}\left(1+|a|_{v}|q|_{v}^{k}\right) \prod_{k=0}^{\infty}\left(1+|b|_{v}|q|_{v}^{k}\right)=: c_{4}
$$

Now the first inequality of Lemma 2.1 follows by (10).
The bound for $\left|R_{2 n+1}(\xi)\right|_{v}$ is obtained in a similar way.
Lemma 2.2. At least one of the numbers $f(\xi)$ and $f(q \xi)$ is different from zero.

Proof. Assume that $f(\xi)=f(q \xi)=0$. Then $f\left(q^{n} \xi\right)=0$ for all $n \geq 0$ by (1) and (4), and we obtain a contradiction $0=\lim _{n \rightarrow \infty} f\left(q^{n} \xi\right)=f(0)=1$. This proves Lemma 2.2.

## 3. Approximation polynomials

By using the equations (10) and (11) we may write

$$
\begin{equation*}
R_{n}(z)=P_{n, 0}(z) R_{0}(z)+P_{n, 1}(z) R_{1}(z), \quad n=0,1, \ldots \tag{13}
\end{equation*}
$$

where $P_{n, i}$ are polynomials satisfying

$$
\begin{array}{lll}
P_{0,0}(z)=1 \\
P_{0,1}(z)=0
\end{array}, \quad P_{1,0}(z)=0, ~ P_{2,0}(z)=\alpha_{1}-1,
$$

and, for all $n \geq 1$, the recursions

$$
\begin{equation*}
P_{n+2, i}(z)=P_{n+1, i}(z)-\alpha_{n}\left(1-\alpha_{n+1}\right) z P_{n, i}(z), \quad i=0,1 \tag{14}
\end{equation*}
$$

Here $\operatorname{deg} P_{2 n, i}(z) \leq n-1$, $\operatorname{deg} P_{2 n+1, i}(z) \leq n$, ord $R_{2 n}(z)=2 n-1$, and ord $R_{2 n+1}(z)=2 n$. Thus the polynomials $P_{n, i}$ are Padé approximations for $R_{0}$ and $R_{1}$. For these polynomials we have the following non-vanishing result, see Lemma 1 of [7].

Lemma 3.1. If the assumptions of Theorem 1.3 are valid, then

$$
\delta(\xi, n):=\left|\begin{array}{cc}
P_{n, 0}(\xi) & P_{n, 1}(\xi) \\
P_{n+1,0}(\xi) & P_{n+1,1}(\xi)
\end{array}\right| \neq 0
$$

for all $n \geq 0$.
Proof. By the above definition of $P_{n, i}$ we have $\delta(\xi, 0)=1, \delta(\xi, 1)=(1-$ $\alpha_{1}$ ), and $\delta(\xi, n)=\alpha_{n-1}\left(1-\alpha_{n}\right) \xi \delta(\xi, n-1), n \geq 2$. This proves Lemma 3.1.

Lemma 3.2. If the assumptions of Theorem 1.3 are valid, then, for all places $w$,

$$
\max \left(\left\|P_{2 n, i}(\xi)\right\|_{w},\left\|P_{2 n+1, i}(\xi)\right\|_{w}\right) \leq C_{1}(w)^{n}\|q\|_{w}^{* n(n-1)}
$$

where

$$
C_{1}(w)=4^{\delta_{w}}\|a\|_{w}^{*}\|b\|_{w}^{*}\|\xi\|_{w}^{*}
$$

and here $\delta_{w}=0$, if $w$ is finite, and $\delta_{w}=1$ for infinite $w$.
Proof. Clearly $\left|P_{0, i}(\xi)\right|_{w} \leq 1,\left|P_{1, i}(\xi)\right|_{w} \leq 1,\left|P_{2, i}(\xi)\right|_{w} \leq 2^{\delta_{w}}|a|_{w}^{*}$, $\left|P_{3, i}(\xi)\right|_{w} \leq 2^{2 \delta_{w}}|a|_{w}^{*}|b|_{w}^{*}|\xi|_{w}^{*}$. The recursion (14) gives

$$
P_{2 n+2, i}(\xi)=P_{2 n+1, i}(\xi)-b q^{n-1}\left(1-a q^{n}\right) \xi P_{2 n, i}(\xi)
$$

and

$$
P_{2 n+3, i}(\xi)=P_{2 n+2, i}(\xi)-a q^{n}\left(1-b q^{n}\right) \xi P_{2 n+1, i}(\xi)
$$

and therefore we can see, by induction, that

$$
\begin{aligned}
\left|P_{2 n, i}(\xi)\right|_{w} & \leq 2^{(2 n-1) \delta_{w}}|a|_{w}^{* n}|b|_{w}^{*(n-1)}|\xi|_{w}^{*(n-1)}|q|_{w}^{*(n-1)^{2}}, \\
\left|P_{2 n+1, i}(\xi)\right|_{w} & \leq 2^{2 n \delta_{w}}|a|_{w}^{* n}|b|_{w}^{* n}|\xi|_{w}^{* n}|q|_{w}^{* n(n-1)} .
\end{aligned}
$$

This proves Lemma 3.2.

## 4. Improved approximations

In this section we shall use iteration of (4) to improve linear forms $R_{n}(z)$ in (13). For this we write (4) to the form (3)

$$
\begin{aligned}
q z f\left(q^{2} z\right) & =\frac{q}{a b}((a+b) z-1) f(q z)+\frac{q}{a b}(1-z) f(z) \\
& =:-T(z) f(q z)+S(z) f(z) .
\end{aligned}
$$

It is proved in Section 4 of [10] that the iteration of this functional equation gives, for each $k=1,2, \ldots$, polynomials $T_{k}$ and $S_{k}$ in $K[z]$ such that

$$
\begin{equation*}
z^{k+1} q^{\binom{k+2}{2}} f\left(q^{k+2}\right)=: T_{k}(z) f(q z)+S_{k}(z) f(z) \tag{15}
\end{equation*}
$$

and the following lemma holds.
Lemma 4.1. For all $w$

$$
\max \left\{\left\|T_{k}(\xi)\right\|_{w},\left\|S_{k}(\xi)\right\|_{w}\right\} \leq C_{2}(w)^{k}\|q\|_{w}^{* k^{2} / 2}
$$

where

$$
C_{2}(w)=8^{\delta_{w}}\|\underline{\Lambda}\|_{w}^{*}\|\xi\|_{w}^{* 3}\|q\|_{w}^{*}, \quad \underline{\Lambda}=\frac{q}{a b}(1, a+b)
$$

Furthermore the determinant

$$
\gamma(\xi, k):=\left|\begin{array}{cc}
S_{k-1}(\xi) & T_{k-1}(\xi) \\
S_{k}(\xi) & T_{k}(\xi)
\end{array}\right| \neq 0
$$

The claim concerning the determinant follows immediately from the recursion

$$
\gamma(\xi, k)=-\xi q^{k} S\left(q^{k} \xi\right) \gamma(\xi, k-1)
$$

$k=1,2, \ldots, \gamma(\xi, 0)=-S(\xi) \neq 0$, see [10].

We next construct improved approximations by applying the above iterations to (13). Let

$$
\begin{equation*}
r_{n, k}(z)=R_{n}\left(q^{k+1} z\right) \tag{16}
\end{equation*}
$$

Then

$$
\begin{aligned}
& z^{k+1} q^{\binom{k+2}{2}}\binom{r_{2 n, k}(z)}{r_{2 n+1, k}(z)} \\
& =z^{k+1} q^{\binom{k+2}{2}}\left(\begin{array}{cc}
P_{2 n, 0}\left(q^{k+1} z\right) & P_{2 n, 1}\left(q^{k+1} z\right) \\
P_{2 n+1,0}\left(q^{k+1} z\right) & P_{2 n+1,1}\left(q^{k+1} z\right)
\end{array}\right)\binom{R_{0}\left(q^{k+1} z\right)}{R_{1}\left(q^{k+1} z\right)} \\
& =\left(\begin{array}{cc}
P_{2 n, 0}\left(q^{k+1} z\right) & P_{2 n, 1}\left(q^{k+1} z\right) \\
P_{2 n+1,0}\left(q^{k+1} z\right) & P_{2 n+1,1}\left(q^{k+1} z\right)
\end{array}\right)\left(\begin{array}{cc}
1 & 0 \\
1 & -a
\end{array}\right) \\
& \cdot\left(\begin{array}{cc}
z q^{k+1} S_{k-1}(z) & z q^{k+1} T_{k-1}(z) \\
S_{k}(z) & T_{k}(z)
\end{array}\right)\binom{f(z)}{f(q z)} \\
& =:\left(\begin{array}{cc}
p_{2 n, 0, k}(z) & p_{2 n, 1, k}(z) \\
p_{2 n+1,0, k}(z) & p_{2 n+1,1, k}(z)
\end{array}\right)\binom{f(z)}{f(q z)} \text {. }
\end{aligned}
$$

Here

$$
\begin{align*}
\Delta_{n, k} & :=\left|\begin{array}{cc}
p_{2 n, 0, k}(\xi) & p_{2 n, 1, k}(\xi) \\
p_{2 n+1,0, k}(\xi) & p_{2 n+1,1, k}(\xi)
\end{array}\right|  \tag{17}\\
& =-a \xi q^{k+1} \delta\left(q^{k+1} \xi, 2 n\right) \gamma(\xi, k) \neq 0
\end{align*}
$$

by Lemmas 3.1 and 4.1.
We now denote

$$
\begin{aligned}
r_{2 n} & =\xi^{k+1} q^{\binom{k+2}{2}} r_{2 n, k}(\xi), & & p_{2 n, i}=p_{2 n, i, k}(\xi), \\
r_{2 n+1} & =\xi^{k+1} q^{\binom{k+2}{2}} r_{2 n+1, k}(\xi), & & p_{2 n+1, i}=p_{2 n+1, i, k}(\xi),
\end{aligned}
$$

where $k$ has the value $k=[\rho n]$ with some $\rho>0$. By using these notations we obtain, for all $n=0,1, \ldots$, linear forms

$$
\begin{align*}
r_{2 n} & =p_{2 n, 0} f(\xi)+p_{2 n, 1} f(q \xi)  \tag{18}\\
r_{2 n+1} & =p_{2 n+1,0} f(\xi)+p_{2 n+1,1} f(q \xi)
\end{align*}
$$

with the following properties.

Lemma 4.2. The linear forms $r_{2 n}$ and $r_{2 n+1}$ are linearly independent and, for all places $w$,

$$
\max \left\{\left\|p_{2 n, i}\right\|_{w},\left\|p_{2 n+1, i}\right\|_{w}\right\} \leq C_{3}(w) C_{4}(w)^{n}\|q\|_{w}^{* A n^{2}}
$$

where
$A=A(\rho)=1+\rho+\rho^{2} / 2, \quad C_{3}(w)=4^{\delta_{w}}\|a\|_{w}^{*}, \quad C_{4}(w)=C_{1}(w) C_{2}(w)^{\rho}$.
Furthermore, for all $n \geq n_{0}$, we have

$$
\max \left\{\left\|r_{2 n}\right\|_{v},\left\|r_{2 n+1}\right\|_{v}\right\} \leq c_{5} C_{5}(v)^{n}\|q\|_{v}^{B n^{2}}
$$

with $B=B(\rho)=1+2 \rho+\rho^{2} / 2, c_{5}=\max \left\{c_{1}, c_{2}\right\}$ and

$$
C_{5}(v)=\|a\|_{v}^{*}\|b\|_{v}^{*}\|\xi\|_{v}^{* 2+\rho}\|q\|_{v}^{-(2+\rho / 2)}
$$

Proof. The linear independence of $r_{2 n}$ and $r_{2 n+1}$ follows from (17), and the estimate for $\left\|p_{2 n, i}\right\|_{w}$ and $\left\|p_{2 n+1, i}\right\|_{w}$ is a consequence of Lemmas 3.2 and 4.1 together with the definition of $p_{2 n, i}$ and $p_{2 n+1, i}$. Finally, the last estimate is obtained by Lemma 2.1, (16) and (18).

## 5. Proof of Theorem 1.3 and the corollaries

Let the assumptions of Theorem 1.3 hold and let

$$
L=A_{0} f(\xi)+A_{1} f(q \xi)
$$

where $\underline{A}=\left(A_{0}, A_{1}\right) \in K^{2}$ is nonzero. By Lemma 2.2 at least one of the numbers $f(\xi)$ and $f(q \xi)$ is different from zero, say $f(\xi) \neq 0$. We then apply Lemma 4.2, which implies that at least one of $\Delta_{2 n}$ and $\Delta_{2 n+1}$ is nonzero, if

$$
\Delta_{n}:=\left|\begin{array}{cc}
A_{0} & A_{1} \\
p_{n, 0} & p_{n, 1}
\end{array}\right|
$$

We may assume that $\Delta_{2 n} \neq 0$. Then

$$
\begin{equation*}
\Delta_{2 n} f(\xi)=p_{2 n, 1} L-A_{1} r_{2 n} \tag{19}
\end{equation*}
$$

with $\Delta_{2 n} f(\xi) \neq 0$. By using Lemma 4.2 with the special choice $\rho=\sqrt{2}$ and considering the equation (19) in a standard way, see e.g. the proof of Theorem 6.1 in [2], the proof of Theorem 3.3 in [9], or the proof of Theorem 1 in [13], we obtain the estimate

$$
|L|_{v}>|\underline{A}|_{v}^{*} H^{-\frac{d}{d_{v}} \frac{B(\sqrt{2})}{B(\sqrt{2})+\lambda A(\sqrt{2})}-c_{0} / \sqrt{\log H}}
$$

giving the truth of Theorem 1.3.
In Corollary $1.5 \lambda=-1$ and $|\underline{A}|^{*}=\max \left\{\left|A_{0}\right|,\left|A_{1}\right|\right\}$, which gives the truth of Corollary 1.5. This proves Corollary 1.6, too. Also in Corollary $1.7 \lambda=-1$, and the truth of this corollary follows, since $|\underline{A}|_{p}^{*}=1$.

## REFERENCES

1. Amou, M., and Matala-aho, T., Arithmetical properties of solutions of linear second order qdifference equations, pp. 15-29 in: Number Theoretic Methods (Iizuka 2001), Dev. Math. 8, Kluwer, Dordrecht 2002.
2. Amou, M., Matala-aho, T., and Väänänen, K., On Siegel-Shidlovskii's theory for q-difference equations, Acta Arith. 127 (2007), 309-335.
3. Bézivin, J.-P., Fonction de Tschakaloff et fonction q-exponentielle, Acta Arith. 139 (2009), 377-393.
4. Bundschuh, P., and Väänänen, K., An application of Nesterenko's dimension estimate to padic q-series, Int. J. Number Theory 7 (2010), 431-447.
5. Bundschuh, P., and Väänänen, K., Arithmetical results on certain q-series III, Moscow J. Comb. Number Theory 1 (2011), 83-106.
6. Bundschuh, P., and Väänänen, K., q-series: dimension estimates, linear independence, Publ. Math. Debrecen 79 (2011), 367-378.
7. Chirskii, V. G., Linear independence of the p-adic values of certain $q$-basis hypergeometric series, Fundam. Prikl. Mat. 5 (1999), 1-7.
8. Krattenthaler, C., Rochev, I., Väänänen K., and Zudilin, W., On the non-quadraticity of values of the q-exponential function and related q-series, Acta Arith. 136 (2009), 243-269.
9. Matala-aho, T., On Diophantine approximations of the solutions of $q$-functional equations, Proc. Roy. Soc. Edinburgh Sect. A 132 (2002), 639-659.
10. Matala-aho, T., and Merilä, V., On Diophantine approximations of Ramanujan type $q$ continued fractions, Journal of Number Theory 129 (2009), 1044-1055.
11. Rochev, I. P., On linear independence of values of certain $q$-series, Izv. RAN. Ser. Mat., 75 (2011), 181-224.
12. Rochev, I. P., New linear independence measures for values of $q$-hypergeometric series, arXiv:math/1006.5413v1 (2010).
13. Väänänen, K., On linear independence of the values of generalized Heine series, Math. Ann. 325 (2003), 123-136.
14. Väänänen, K., On arithmetic properties of $q$-series, pp. 47-59 in: Analytic Number Theory and Related Areas, (by K. Kawada, ed.), RIMS 2009.
15. Väänänen, K., On Tschakaloff, q-exponential and related functions, Ramanujan J. 30 (2013), 117-123.

DEPARTMENT OF MATHEMATICAL SCIENCES
UNIVERSITY OF OULU, P.O. BOX 3000
90014 OULUN YLIOPISTO
FINLAND
E-mail: Keijo.Vaananen@oulu.fi

